

Lec. 16

Stirling: $n! \sim \sqrt{2\pi n} n^n e^{-n}$ will show $C \sqrt{n} n^n e^{-n}$

Pf $f(n) = \frac{n!}{\sqrt{n} n^n e^{-n}}$ $f(1) = e$

$$\log(1-x) = -x - \frac{x^2}{2} - \frac{x^3}{3} + o(|x|^3)$$

$$\log f(n) - \log f(n-1) = \log \left(\frac{n!}{\sqrt{n} n^n e^{-n}} \cdot \frac{\sqrt{n-1} (n-1)^{n-1} e^{-(n-1)}}{(n-1)!} \right)$$

$$= \log \left(e \cdot \sqrt{1-\frac{1}{n}} \left(1-\frac{1}{n}\right)^{n-1} \cdot \frac{1}{n} \right)$$

$$= 1 + (n-1) \log \left(1-\frac{1}{n}\right) - \frac{1}{n} - \frac{1}{2n^2} - \frac{1}{3n^3} + o\left(\frac{1}{n^3}\right)$$

$$= \cancel{1} - \cancel{1} + \cancel{\frac{1}{2n}} - \cancel{\frac{1}{2n}} + \frac{1}{4n^2} - \frac{1}{3n^2} + o\left(\frac{1}{n^2}\right)$$

$$= -\frac{1}{12n^2} + o\left(\frac{1}{n^2}\right)$$

$$\log f(n) = -\frac{1}{12} \sum_{k=2}^n \frac{1}{k^2} + \log f(1) + o\left(\sum_{k=2}^n \frac{1}{k^3}\right)$$

$$\xrightarrow{n \rightarrow \infty} C \left(= 1 - \frac{1}{12} \left(\frac{\pi^2}{6} - 1 \right) \right) \quad \log e = 1 \quad \leq o(1) \xrightarrow[n \rightarrow \infty]{} 0$$

so $f(n) \sim e^C$ and $n! \sim C' \sqrt{n} n^n e^{-n}$

Why $\sum_{k=1}^{\infty} \frac{1}{k^2} < \infty$? $1 + \sum_{k=2}^{\infty} \frac{1}{k^2} \leq 1 + \sum_{k=2}^{\infty} \frac{1}{k(k-1)} = 1 + 1$
 (actually $= \frac{\pi^2}{6}$) $1 - \frac{1}{2} + \frac{1}{2} - \frac{1}{3} + \frac{1}{3} - \dots \rightarrow \frac{1}{k-1} - \frac{1}{k}$